
600 rozpl.+300cv+300 Z vln.

12x100n2´ 2x Vz/1xHz+ 100 vypl.

1200 50+25 vypl. Pz 

30x50r Vz i10+300vypl. 5500 5500

600 rozpl.+400 cv

16x75/+25vypl. Pz pl. 1´50"+400n vz+100vypl.

12x100vz stupň. 3 1´45"+100vypl.
800 /25pz+25n P na zádech+100vypl.+5x300vz pac 5´+200vypl. 6900

600 rozpl. 4x100cv.+16x25pz

4x(200pz 3´30"+4x50) (M,Z,P,VZ)+100vypl.

4x300 pl. (100cv,100n,100souhra) M,Z,P,VZ i20+100vypl.

20x50 vz  5xvz 50"+5xz 1´+5x vz 45"+ 5xz 55"+200vypl. 5600 12 500

TEST 800vz 12´+400vz 6´+200vz 3"+ 100

200vypl.,2x(400n ,400r, 4x100 1"45)(Z,M)
500 vln. Pl. 200vypl. 6500

600 rozpl.

4x (200vz+100pz) 4x(200pz+100vz)+100vypl.

4x (50M lehce+100z max) 50",1´40" 100vypl

4x (50K lehce+100Pz max) 50",1´40" 100vypl.

4x (50Z lehce+ 100P max)50",1´40" 100vypl. 5000 11 500

600 rozpl.+ 32x25 25" výjezdy.

12x50 pl. 1cv,2vln z,3 25 plpv+25 z

200vypl 3800

600 rozpl+6x150(n,cv,r)hz

3x(200 hz+ 3x50 max1'hz+100vypl) 10x100vz pac. š. 1'40"  3x(200hz+3x50max1' hz+100vypl.) pl.

1000 pac. pl.  500vz+500z+100vypl 5700 9500

600 rozpl

TEST 5x200HZ+200vypl.
12x150 í15 sřídat K, MZP po50m+200vypl. 5 300

600 rozpl.

3x300HZ N,R,CV

10x50HZ+5x100+2x200+5x100+10x50HZ (1´,1"45,3"30)

100vypl. 30x50pl HZ 1" 200vypl. 5700 11 000

600 rozpl.+24x25Pz 30"

1200 (200z+200vz+200cv) 100vypl.

TEST 10x100vz 2" 100vypl.
20x50r 1´10" pac každá 5 M, vz+100vypl. 400n+100vypl.+12x150(100Pz+50Hz)2´45" 5700

600 rozpl. 6x50r vz+6x50n vz

800vz 12´ 8x 100 vz 1´30"

2x(400vz 5´40" 4x100 1´30")

2x(300vz 4´30´ 3x100 1´30")

200 vypl. 5800 11500

15x100 1z,2vz  pac. 1´40"

21.11.

400HZ cv.,12x50 1K,2HZ 1´10+100vypl.,2x300n 1xHZ 1xVz

22.10.

týden

SCM 17‐23.11.2014
17.11.

18.11.

19.11.

600 rozpl. 6x100 (3xvz,3xpz)1´45+300 libo N+100

20.11.



600 rozpl

8x50pz 1´+400n P na skluz

8x50 pz 1´10"+400n M+100vypl

20x50 pac z,p,vz i15 + 400 p na skluz, 250rvz+500vz š pl.+250 n vz. 100vypl. 4800

4800

66 300 km

23.11.

týden


